SYDNEY GRus — S ICING No 8

1. Find the area enclosed by the parabola x2 = 4ay and its latus rectum.

i
© ™ Hence find the volume of a solid base:
a) x2 + y2 =4 and cross sectional area perpendicular to the X axis

being that section of a parabola enclosed by its latus rectum, the latus
rectum being on the base of the solid.
b) 4x2 + 9y2 = 36 and cross sectional area perpendicular to the Y axis
" being that section of a parabola enclosed by its latus rectum, the latus

rectum being on the base of the solid.
c) A square of side I and cross sectional area perpendicular to a
diagonal being that section of a parabola enclosed by its latus rectum, the

latus rectum being on the base of the solid.

ANSWERS: 1a) %, 1b) 16, 1c) —‘gz—P
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